2021 FA R ERAAHER

HETESRS 2021.43(1)44(H) =R

EK HEE2) 11703(+2.2)

F £ F{Z3) 11707(+3.1)

R RHEH2) 11712(-0.4)

FiE F1K3) 11747(+1.5)

Rl A 3E $3) 11769(+1.1)

FUEA BE3) 11785(+1.5)

FAR EBIR3) 11793(%=0.0)

INE FF82) 12719(+1.3)

HE #RE2) 12748(-0.6)

100m(3) 1k B8%2) 12799(+0.2) iR EH2) 13773(+1.0) =1 BH3) DNS
FEFT %3) DNS HiE= 2 Bj2) DNS BREB%ES th2) DNS
LLIFE fiik2) DNS
=8 E{R3) 23749(-1.7) BREF Kih2) 23768(-1.0) WA Z/3) 23774(-0.6)
K JLEE2) 23784(-2.9) Rl A2 $013) 24739(-2.9) iR #E5H3) 24754(-1.7)
200m(4) AR fEH2) 24770(-2.1) At [ A2) 24785(-3.0) TR A EE3) 24798(-0.4)
HR #RE2) 25745(-1.0) fRIR EHE3) 27775(-0.6) =0 BH3) DNS
HERT %3) DNS ¥Eith —UE.3) DNS k7 KR§h2) DNS
RRER %5 th2) DNS (LIf# fiik2) DNS
LI E{EZ 413) 50788 REy Kih2) 50795 % 7 KIZEE3) 51718
400m(3) K {EE2) 54705 b4t BEA2) 55705 fiR FEEE3) 55751
#Eith —iE3) DNS
Bk #5753) 410728 JOfE E33) 412705 HH B52) 416718
¥AHE BEFR3) 420773 INEE #3) 424734 FHE Ki§2) 425741
1500m(3) TH FEth2) 427784 7k $H1=2) 429737 2 FE2) 431706
Mok EE2) 433793 Tl #8%2) 437775 m3 EE2) 451706
LA F&EL3) DNS = H i 3}2) DNS
Eik 72) 1544785 J0#E Z3W3) 16'01745 T EFH2) 16'04791
R KH82) 16'32744 TH Hth2) 1643740 0B = #3) 16'53717
5000m(4) 2% FE2) 1703784 FAE REFR3) 1704785 K F1=2) 1729714
sk [EE2) 1748760 A FEE2) 1922717 e $E%2) 19'49779
LA F£5h3) DNS = H #83-2) DNS
110mH(3) NG FH5E2) 17704(+1.7)
400mH(4) F# F F{=3) 55”31 BHA EE5R3) 60714
JAEKIER2)- FHEFIKRI) - hAffE N 2)- EEF K #h2) 3'29796
HIRfRE2)- H EE{3)- ILEEZ N3)- T AEEHR3) 330773
1600mR(4) FAT AGEFH3) - IR EES)- /NS F52) - {EBREAk2) 341702
RIRIEHE2) - 1 7 KifEth2) - hRFEEES) - S5 E(R3) 342797
£HEB DNS
E=B3) =48 E{h3) 1m96 1k BE8k2) 1m65
FENEBk(3) INLE /472) 6m04(-0.9) A& #K3) 5m70(-0.9) G185 2 B12) DNS
=B Bk(4) i 7 RZEE2) 12m88(+0.3) INthE /912) 12m05(+0.8)
FH FEER3) 13705(+1.7) =K %k1E3) 13708(+2.3) #BNILDHA2) 13715(-0.4)
100m(3) EHIBESTES) 13723(+1.7) 4E7 /NE2) 13763(+1.8) Eah & 3£3) 13785(+1.8)
R f0E3) 14722(+0.1) K& ME3) DNS
25 HZ3) 27725(+0.3) FiF FRER3) 28700(+0.3) =HIEA&1E3) 28767(+0.2)
200m(4) %R #0%3) 29782(-0.9) BBy BF03) DNS AR Z3£3) DNS
LE2 /\Z2) DNS 18/ £%2) DNS
400m(3) 25 HZ3) 64701 BBy BF03) DNS BREP #X2) DNS
800m(4) JTRDNS AR EBDNS
1500m(3) fE8 22) 458738 Ak B552) 517714 F0 % H3) DNS
TR DNS EIUEEEF2) DNS
£ 222) 1046707 0O 3 A3) 1106735 sk B5322) 1142799
3000m(4) &ILBZF2) DNS
100mH (3) BiL 2553) 16763(+1.8) EH 3{F2) DNS
E= k) BFNLNDH2) 1m50 K& ME3) 1m40
FEE Ek(3) ANk EEFE3) 4m86(+0.4) =K %K¥E3) 4m49(+1.2) FI# R <2) DNS
BINWNDH2)-TeFHRRERS) - #8E5=3E3) - INFREEFES) 433779
1600mR(4) £ HEADNS

f£HASC DNS




BOETHR XS 2021.410(1)17(2)18(8) =ViR

LLIFE fiik2) $11707(x0.0)

R RfEH2) F11718(+0.1)

BT A ;& $13) DNS

E1100m(17) #11727(-2.9) #11721(-0.7)
#R11706(-1.3) F 3L R11733(-1.3) 74z
BERT E3) $11749(-0.3) ARER &5 th2) F11765(+0.1) =48 E{R3) F11772(-0.3)
#£11755(-1.2) #11771(-0.7)
—#%100m(17) - - T - -
FAEA 23) $12706(-0.3) ¥Eith—iE3) F12741(£0.0) HF #FE2) $12752(+0.5)
RIR ET2) F13754(-1.4)
{7 KifEth2) $22731(+1.1) FE Kih2) $23711(+1.0) 1k 7 KIEKEE2) $23730(+1.7)
200m(10) R22729(£0.0) FE34L
7&K JE22) FDNS LR fnik2) FDNS
= 400m(18) {E R KIFEE2) F50784 IIAEEZA3) F51712 YEith —iE2E3) DNS
= 350799 EE5{i SR51741 B
—f%400m(18) |H 4t BEA2) F55742 REF K#h2) FDNS WA EH2) FDNS
NG RI52) F16790(-1.1)
110mH(18) R17727(-4.6) FBI4L
400mH(17) H b IB{Z3) f54:es FAR ER3) ?57"’72
R55709 FE14L R56788 F24I
400mR(10) F BIAGE $#13)- LU fik2)-1E < Kigth2)-EK J6E82) 43763
ROFE BE{T3)- IR fiK2)-E < ARHEh2)- 55K FEE2) 42760 F24L
1600mR(17) T EKAEE2)-FEF KHh2)- ik RIFKEE2)- ILAEZA13) 327733
(18) |k {EAKEHEH2)-3 EE{=3)- ILAZEZ /3)-E/KIEE2) 319780 H1L
ESBGT) =18 E(h3) R1m90 Fifu 1k B8 R1m65
FEMEB(10) INE /A12) 3R6m15(+1.7) FE54L AiE F1K3) iR5m96(+0.5) 18 =2 812) i£5m03(-0.3)
= 100m(17) SHIEATES) F13732(+0.6) FiF FRER3) F13722(-0.5) Z R &3 $14749(+0.2)
#£13744(-0.2) #13745(-1.9)
—48100m(17) IO A2) F13735(+0.6) Lel /NE&2)F13781(+0.9)
#£13750(+0.7) #14702(-0.5)
200m(10) KIR &33) $27729(-0.9) FiH FRER3) F27751(-0.9) 1578 £%2) DNS
m ». ”
R26799(+0.8) F4fL
400m(1 HEF BHFN3) $63789 25 HZ£3) ¥65718 BREP #k2) FDNS
m(18) .
JRDNS
800m(17) BRER #k2) DNS
100mH(8) EiE =X3) .%17,,’,45(_1'8) R ER 31%2) $DNS
HR17721(-0.7) F14L
400mR(10) F =K KI83)-FH FRER3)-{EE ME3) -SHIESTE3) 56796
1600mR(17) F =K KIE3)-125 HZF3)- KR £3F3)-HE HF3) 412725
(18) RO=K RIE)-FHARERS) - FFNNDA42)-BEHES) 412714 F46L
ESBk(18) FINNDA2) R1mb51 241 KiE ME3) R1m40
FENEBE(10) PNEE EEFE3) SRAmMI1(+1.4) Faft =K %k1IE3) iR4m52(+0.6) FII#E <2) DNS




